BT TRIA O - HESHEE R < %%u(fﬁmﬁ KIRHE
s s A i O
BT T2 MRl T8 T =% BT % Mg T8 T =%
HX 40,557 85,928 40,940 44,988
RIRET1T 6 15 9 6
RIRET2T 28 59 29 30
AIEET3T 176 579 281 208
RIRET4T 422 977 482 495
B 632 1,630 801 829
REH 2,766 6,141 2,873 3,268
L&A 4,335 9,351 4,361 4,990
5E 2,654 5,841 2,825 3,016
B AN 1,329 2,838 1,331 1,507
BERT 1,419 1,958 941 1,017
BER2T 927 1,626 790 836
BERST 761 1,829 877 952
B 3,107 5,413 2,608 2,805
BEXRE 288 643 312 331
= 2,184 4,771 2,272 2,499
hERE 640 1,410 648 762
aE 2,424 4,956 2,394 2,562
25 L ET 2,327 4,964 2377 2,587
B &AL BT 75 149 62 87
HEFILET1T 567 1,223 569 654
HEFILET2T 604 1,240 587 653
HEZFILAT3T 691 1,548 754 794
g 1,937 4,160 1,972 2,188
B & it B Fr ET 679 1,519 734 785
BHEREBET1T 583 1,168 573 595
BHERERET2T 763 1,697 825 872
BHERERETST 799 1,588 720 868
BHERERET4T 504 917 423 494
HEKERETST 826 1,646 785 861
HEERET6T 891 1,875 909 966
BHERERET7T 894 1,822 885 937
HERERETST 72 202 97 105
£t| 5332 10915 5217 5,698
HEF R FET 2,003 4,097 1,998 2,099
S|EFET1T 641 1,592 790 802
S|EFET2T 769 1,721 810 911
S|EFET3 T 745 1,358 625 733
g 2,155 4671 2,225 2,446
ERE1T 587 1,312 628 684
EIRET2T 384 1,023 508 515
EREIST 519 1,312 645 667
EIRETAT 696 1,434 631 803
EIZEIST 555 1,195 592 603
g 2,741 6,276 3,004 3,272
M EFHE 2,921 6,146 2,899 3,247
J\THET1T 31 33 16 17
J\THET2T 23 50 26 24
J\THEI3T 49 103 47 56
B 103 186 89 97
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